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2-1. EFRS2HHH(ELEERA)
BiAMER | DEMES | MRS | RTLE *iE wEiEe | o
R3T 22 95 0 20 1 2 100
(EEIDV 31)
48
H30 25 (EHIDV 17) 0 9 12 3 97
2-2. EFRESZHHHGBREEEA)
o] = | BB | RE | BR | RE | 5B | 5E —
REES B8 | gem | smum [vos—| ZA | 3w | mpe | 700 | TOR) A
RT 0 0 9 60 6 0 15 2 7 100
H30 1 1 9 56 5 2 12 1 8 2 97
2-3. EFREZHHHMCIRIRERRI)
Ear | smam | SBAL | ji~s | pa~e | mmax | mra | R &t
TR
RT 2 16 16 22 15 18 11 0 100
H30 4 19 20 15 18 10 9 2 97
2-4. EFBREZTEHB(ELEFER)
[k ZDith N a5t
= 5 = i
RT 39 7 54 0 0 0 0 100
H30 27 6 56 2 4 0 2 97
2-5. REEFRESEF2MFEEH (AR
48 |spleg |78 |8 |98 |10 |11B|128| 18|28 |38 | o
RT 6 12 5 19 6 8 9 8 7 4 10 6 100
H30 6 15 8 4 10 6 12 12 4 6 7 7 97




3. EREREXNRMEBEREXANGR(SHTERE)
4R | 5A | 6RA | 7R | 8A | 9AR |10 | 11A (12A | 1A

2A | 3R | &

‘r—Z%| 53 51 51 63 62 66 62 64 61 24 97 95 | 699

N#EHRE | 12 9 4 12 5 4
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ey 17 e | ]
RE |FHT| B LD | mp| AR &p | BV | BE | i |20’ 3
%iE | B | B [T g |TOM T

RITHEE | 1,349 201| 108| 311 56 10 15 2 38 53 5 47 | 2,195

21 35 6 45 | 2,111

04FFE | 1,148 | 231 191 332 44 31 21 6




